Exercise 7.2:  Analysis of variance of split plot experiment

This experiment was laid out as four blocks of four whole parts for the varieties each split in two for the application of fertilizer.  

	Strain
	Manuring
	1
	2
	3
	4
	Fert.
Total
	Strain

Total

	S23
	Heavy
	299
	318
	284
	279
	
	

	
	Average
	247
	202
	171
	183
	
	

	New Zealand
	Heavy
	315
	247
	289
	307
	
	

	
	Average
	257
	175
	188
	174
	
	

	X
	Heavy
	403
	439
	355
	324
	
	

	
	Average
	222
	170
	192
	176
	
	

	Kent
	Heavy
	382
	353
	383
	310
	
	

	
	Average
	233
	216
	200
	143
	
	

	Total
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